

A NEW GENERALIZATION OF NESBITT'S INEQUALITY

DUMITRU M. BĂTINEȚU-GIURGIU¹, NECULAI STANCIU²

Manuscript received: 01.08.2013; Accepted paper: 07.08.2013;

Published online: 15.09.2013.

Abstract. This paper presents a retrospective of our refinements, extensions and generalizations of Nesbitt's inequality. Also we present a new generalization for this remarkable inequality.

Keywords: Radon's inequality, Bergström's inequality, Jensen's inequality, Nesbitt's inequality.

1. INTRODUCTION

In this section, we will do a retrospective of our results on Nesbitt's inequality:

1.1. ON NESBITT'S INEQUALITY FOR TWO VARIABLES

If $x_1, x_2 \in R_+^*$, then:

$$A(x_1, x_2) = \frac{x_1}{x_2} + \frac{x_2}{x_1} \geq 2, \text{ (see for e.g. [6, 11])}$$

1.1.1. If $a, b, x_1, x_2 \in R_+^*$, $X_2 = x_1 + x_2$ and $aX_2 > b \max\{x_1, x_2\}$, then:

$$B(x_1, x_2) = \frac{x_1}{aX_2 - bx_1} + \frac{x_2}{aX_2 - bx_2} \geq \frac{2}{2a - b}, \text{ (see [6, 11]).}$$

1.2. ON NESBITT'S INEQUALITY FOR THREE VARIABLES

If $x_1, x_2, x_3 \in R_+^*$, then:

$$C(x_1, x_2, x_3) = \frac{x_1}{x_2 + x_3} + \frac{x_2}{x_3 + x_1} + \frac{x_3}{x_1 + x_2} \geq \frac{3}{2}, \text{ (Nesbitt, 1903, see [13, 11]).}$$

1.2.1. If $a, b, x_1, x_2, x_3 \in R_+^*$, then:

$$D(x_1, x_2, x_3) = \frac{x_1}{ax_2 + bx_3} + \frac{x_2}{ax_3 + bx_1} + \frac{x_3}{ax_1 + bx_2} \geq \frac{3}{a + b}, \text{ (see [3, 11]).}$$

¹ Matei Basarab National College, 061098 Bucharest, Romania. E-mail: dmb_g@yahoo.com.

² George Emil Palade School, 120265 Buzău, Romania. E-mail: stanciuneculai@yahoo.com.

1.2.2. If $a_k, b_k, x_k \in R_+^*$, $k = \overline{1,3}$ and $a_1 + b_2 = a_2 + b_3 = a_3 + b_1 = t$, then:

$$E(x_1, x_2, x_3) = \frac{x_1}{a_1x_2 + b_1x_3} + \frac{x_2}{a_2x_3 + b_2x_1} + \frac{x_3}{a_3x_1 + b_3x_2} \geq \frac{3}{t}, \text{ (see [3, 11]).}$$

1.2.3. If $a, b, x_1, x_2, x_3 \in R_+^*$, $x_1 + x_2 + x_3 = X_3$ and $aX_3 > b \max\{x_1, x_2, x_3\}$, then:

$$F(x_1, x_2, x_3) = \frac{x_1}{aX_3 - bx_1} + \frac{x_2}{aX_3 - bx_2} + \frac{x_3}{aX_3 - bx_3} \geq \frac{3}{3a - b}, \text{ (see [3, 11]).}$$

1.2.4. If $a, b, x_1, x_2, x_3 \in R_+^*$, $x_1 + x_2 + x_3 = X_3$, such that $aX_3 > b \max\{x_1, x_2, x_3\}$, and $m, p \in [1, \infty)$, then:

$$G(x_1, x_2, x_3) = \frac{x_1^m}{(aX_3 - bx_1)^p} + \frac{x_2^m}{(aX_3 - bx_2)^p} + \frac{x_3^m}{(aX_3 - bx_3)^p} \geq \frac{3^{-m+p+1}}{(3a - b)^p} \cdot X_3^{m-p}, \text{ (see [3, 11]).}$$

1.2.5. If $a, b, x_1, x_2, x_3 \in R_+^*$, $x_1 + x_2 + x_3 = X_3$ and $m \in R_+$, then:

$$H(x_1, x_2, x_3) = \frac{x_1}{(aX_3 - bx_1)^m} + \frac{x_2}{(aX_3 - bx_2)^m} + \frac{x_3}{(aX_3 - bx_3)^m} \geq \frac{3^m}{(3a - b)^m \cdot X_3^{m-1}}, \text{ (see [3]).}$$

1.2.6. If $a, b, c, x, y, z \in R_+^*$, then:

$$\begin{aligned} I(x, y, z) &= \frac{ax}{y+z} + \frac{by}{z+x} + \frac{cz}{x+y} \geq \frac{(ax+by+cz)^2}{(a+b)xy + (b+c)yz + (c+a)zx} \geq \\ &\geq \frac{3(abxy + bcyz + cazx)}{(a+b)xy + (b+c)yz + (c+a)zx}, \text{ (see [1, 4]).} \end{aligned}$$

1.2.7. If $a, b, x, y, z \in R_+^*$ and $m \in R_+$, then:

$$J(x, y, z) = \frac{x^{m+1}}{(ay+bz)^{2m+1}} + \frac{y^{m+1}}{(az+bx)^{2m+1}} + \frac{z^{m+1}}{(ax+by)^{2m+1}} \geq \frac{3^{m+1}}{(a+b)^{2m+1}(x+y+z)^m}, \text{ (see [2]).}$$

1.3. ON NESBITT'S INEQUALITY FOR n VARIABLES:

If $x_k \in R_+^*$, $\forall k = \overline{1, n}$, $X_n = \sum_{k=1}^n x_k$, then:

$$N_n = \sum_{k=1}^n \frac{x_k}{X_n - x_k} \geq \frac{n}{n-1}, \text{ (see for e.g [14], the case } n = 4 \text{ and also [11]).}$$

1.3.1. If $n \in N^* - \{1, 2\}$, $m, p \in [1, \infty)$, $a, b, x_k \in R_+^*$, $\forall k = \overline{1, n}$, $X_n = \sum_{k=1}^n x_k$, and $aX_n > b \max_{1 \leq k \leq n} x_k$, then:

$$K_n = \sum_{k=1}^n \frac{x_k^n}{(aX_n - bx_k)^p} \geq \frac{n^{-m+p+1}}{(an-b)^p} \cdot X_n^{m-p}, \text{ (see [2]).}$$

1.3.2. If $a, b, x_k \in R_+^*$, $c, y_k \in R_+$, $\forall k = \overline{1, n}$, $n \in N^* - \{1\}$,

$X_n = \sum_{k=1}^n x_k$ and $aX_n > b \max_{1 \leq k \leq n} x_k$, $y_k \in \left[0, \frac{1}{n} X_n\right]$, $\forall k = \overline{1, n}$ and $m \in R_+$, then:

$$L_n = \sum_{k=1}^n \frac{x_k^{m+1}}{(aX_n - bx_k + cy_k)^{2m+1}} \geq \frac{n^{m+1}}{(an-b+c)^{2m+1} X_n^m}, \text{ (see [2]).}$$

1.3.3. If $n \in N^* - \{1, 2\}$, $a \in R_+$, $b, c, d, x_k \in R_+^*$, $\forall k = \overline{1, n}$, $X_n = \sum_{k=1}^n x_k$, and $cX_n > d \max_{1 \leq k \leq n} x_k$, then:

$$M_n = \sum_{k=1}^n \frac{aX_n + bx_k}{cX_n - dx_k} \geq \frac{(an+b) \cdot n}{cn-d}, \text{ (see [5]).}$$

1.3.4. If $a \in R_+$, $b, c, d, x_k \in R_+^*$, $\forall k = \overline{1, n}$, $X_n = \sum_{k=1}^n x_k$, $m \in [1, \infty)$

and $cX_n^m > d \max_{1 \leq k \leq n} x_k^m$, then:

$$U_n = \sum_{k=1}^n \frac{aX_n + bx_k}{cX_n^m - dx_k^m} \geq \frac{(an+b)n^m}{cn^m-d} X_n^{1-m}, \text{ (see [7] and also [10]).}$$

1.3.5. If $a, m \in R_+$, $b, c, d, x_k \in R_+^*$, $\forall k = \overline{1, n}$, $X_n = \sum_{k=1}^n x_k$, $p \in [1, \infty)$

and $cX_n^m > d \max_{1 \leq k \leq n} x_k^m$, then:

$$V_n = \sum_{k=1}^n \frac{aX_n + bx_k}{(cX_n^m - dx_k^m)^p} \geq \frac{(an+b)n^{mp}}{(cn^m-d)^p} X_n^{1-mp}, \text{ (see [8]).}$$

1.3.6. If $n \in N^* - \{1\}$, $a \in R_+$, $b, c, d, x_k \in R_+^*$, $\forall k = \overline{1, n}$, $X_n = \sum_{k=1}^n x_k$,

$m, p, r, s \in [1, \infty)$, such that $cX_n^m > d \max_{1 \leq k \leq n} x_k^m$, then:

$$W_n = \sum_{k=1}^n \frac{(aX_n^r + bx_k^r)^s}{(cX_n^m - dx_k^m)^p} \geq \frac{(an^r + b)^s}{(cn^m - d)^p} n^{mp-rs+1} X_n^{rs-mp}, \text{ (see [9, 12]).}$$

1.3.7. If $n \in \mathbb{N}^* - \{1\}$, $m, p \in \mathbb{R}_+^*$, $x_k \in \mathbb{R}_+^*$, $\forall k = \overline{1, n}$, and we denotes

$$X_{n,m} = \sum_{k=1}^n x_k^m, X_{n,p} = \sum_{k=1}^n x_k^p, \text{ then:}$$

$$Y_n = \sum_{k=1}^n \frac{x_k^m}{X_{n,p} - x_k^p} \geq \frac{n}{n-1} \cdot \frac{X_{n,m}}{X_{n,p}}, \text{ (will apper in math Journal } \textit{Recrea\c{t}ii Matematice}).$$

1.3.8. If $n \in \mathbb{N}^* - \{1\}$, $a \in \mathbb{R}_+$, $b, c, d, m, p \in \mathbb{R}_+^*$, $x_k \in \mathbb{R}_+^*$, $k = \overline{1, n}$, $X_{n,m} = \sum_{k=1}^n x_k^m$,

$$X_{n,p} = \sum_{k=1}^n x_k^p, \text{ such that } c \cdot X_{n,p} > d \cdot \max_{1 \leq k \leq n} x_k^p, \text{ then}$$

$$Z_n = \sum_{k=1}^n \frac{a \cdot X_{n,m} + b \cdot x_k^m}{c \cdot X_{n,p} - d \cdot x_k^p} \geq \frac{n \cdot (an + b)}{cn - d} \cdot \frac{X_{n,m}}{X_{n,p}}, \text{ (will apper in math Journal } \textit{Recrea\c{t}ii Matematice}).$$

2. MAIN RESULTS

Theorem. If $n \in \mathbb{N}^* - \{1\}$, $a, v \in \mathbb{R}_+$, $b, c, d, m, p \in \mathbb{R}_+^*$, $x_k \in \mathbb{R}_+^*$, $k = \overline{1, n}$, $t \in [1, \infty)$,

$$X_{n,m} = \sum_{k=1}^n x_k^m, X_{n,p} = \sum_{k=1}^n x_k^p, \text{ such that } c \cdot X_{n,p} > d \cdot \max_{1 \leq k \leq n} x_k^p, \text{ then}$$

$$\sum_{k=1}^n \frac{(a \cdot X_{n,m} + b \cdot x_k^m)^t}{(c \cdot X_{n,p} - d \cdot x_k^p)^v} \geq \frac{n^{v-t} \cdot (an + b)^t}{cn - d} \cdot \frac{X_{n,m}^t}{X_{n,p}^v} \quad (1)$$

Proof. WLOG, we can assume that:

$$x_1 \geq x_2 \geq \dots \geq x_n,$$

and then:

- the sequence $\left((a \cdot X_{n,m} + b \cdot x_k^m)^t \right)_{1 \leq k \leq n}$ is decreasing,
- the sequence $\left((c \cdot X_{n,p} - d \cdot x_k^p)^v \right)_{1 \leq k \leq n}$ is increasing,
- and the sequence $\left(\frac{1}{(c \cdot X_{n,p} - d \cdot x_k^p)^v} \right)_{1 \leq k \leq n}$ is decreasing.

By Chebyshev's inequality for decreasing sequences $\left((a \cdot X_{n,m} + b \cdot x_k^m)^t \right)_{1 \leq k \leq n}$, respectively

$$\left(\frac{1}{(c \cdot X_{n,p} - d \cdot x_k^p)^v} \right)_{1 \leq k \leq n} \text{ we obtain that:}$$

$$U = \sum_{k=1}^n \frac{(a \cdot X_{n,m} + b \cdot x_k^m)^t}{(c \cdot X_{n,p} - d \cdot x_k^p)^v} \geq \frac{1}{n} \left(\sum_{k=1}^n (aX_{n,m} + bx_k^m)^t \right) \left(\sum_{k=1}^n \frac{1}{(cX_{n,p} - dx_k^p)^v} \right) \quad (2)$$

By J. Radon's inequality we have that:

$$\sum_{k=1}^n (aX_{n,m} + bx_k^m)^t \geq \frac{\left(\sum_{k=1}^n (aX_{n,m} + bx_k^m)\right)^t}{n^{t-1}} = \frac{(an+b)^t X_{n,m}^t}{n^{t-1}} \quad (3)$$

Also by J. Radon's inequality we deduce that:

$$\sum_{k=1}^n \frac{1}{(cX_{n,p} - dx_k^p)^v} \geq \frac{n^{v+1}}{\left(\sum_{k=1}^n (cX_{n,p} - dx_k^p)\right)^v} = \frac{n^{v+1}}{(cn-d)^v X_{n,p}^v} \quad (4)$$

By (2), (3) and (4) we obtain that:

$$U \geq \frac{1}{n} \cdot \frac{(an+b)^t X_{n,m}^t}{n^{t-1}} \cdot \frac{n^{v+1}}{(cn-d)^v X_{n,p}^v} = \frac{(an+b)^t n^{v-t+1}}{(cn-d)^v} \cdot \frac{X_{n,m}^t}{X_{n,p}^v},$$

and the proof is complete.

Remarks.

- If we take in (1) $t = v = 1$, then

$$\sum_{k=1}^n \frac{a \cdot X_{n,m} + b \cdot x_k^m}{c \cdot X_{n,p} - d \cdot x_k^p} \geq \frac{n \cdot (an+b)}{cn-d} \cdot \frac{X_{n,m}}{X_{n,p}} \quad (5)$$

i.e. we reobtain **1.3.8.**

- If we take in (5) $a = 0, b = 1$, then:

$$\sum_{k=1}^n \frac{x_k^m}{c \cdot X_{n,p} - d \cdot x_k^p} \geq \frac{n}{cn-d} \cdot \frac{X_{n,m}}{X_{n,p}} \quad (6)$$

- If we take in (6) $m = n = p = 1$, then we obtain:

$$\sum_{k=1}^n \frac{x_k}{c \cdot X_n - d \cdot x_k} \geq \frac{n}{cn-d} \quad (7)$$

where $X_n = X_{n,1} = \sum_{k=1}^n x_k$.

- Finally if in (7) we take $c = d = 1$, then we obtain:

$$\sum_{k=1}^n \frac{x_k}{X_n - x_k} \geq \frac{n}{n-1} \quad (\text{N})$$

i.e. Nesbitt's inequality for n variables.

REFERENCES

- [1] Bătinețu-Giurgiu, D.M., Stanciu, N., *Articole și Note Matematice*, **4**(1), 97, 2011.
- [2] Bătinețu-Giurgiu, D.M., Stanciu, N., *Articole și Note Matematice*, **4**(1), 100, 2011.
- [3] Bătinețu-Giurgiu, D.M., Bencze, M., Stanciu, N., *Mathematical Education in the Current European Context*, **2**(1), 49, 2011.
- [4] Bătinețu-Giurgiu, D.M., Stanciu, N., *R.M.T.*, **91**(1), 9, 2012.
- [5] Bătinețu-Giurgiu, D.M., Stanciu, N., *Sclipirea Minții*, **5**(9), 6, 2012.
- [6] Bătinețu-Giurgiu, D.M., Stanciu, N., *Didactica Matematică*, **2**(1), 13, 2012.
- [7] Bătinețu-Giurgiu, D.M., Stanciu, N., *Experiențe Utile în Predarea-Învățarea Matematicii*, **1**(1), 6, 2012.
- [8] Bătinețu-Giurgiu, D.M., Stanciu, N., *The American Mathematical Monthly*, **119**(3), 248, 2012.
- [9] Bătinețu-Giurgiu, D.M., Stanciu, N., *Revista Escolar de la Olimpiada Iberoamericana de Matematicá*, **11**(47), 7, 2012.
- [10] Bătinețu-Giurgiu, D.M., Stanciu, N., *The Teaching of Mathematics*, **16**(1), 2013.
- [11] Bătinețu-Giurgiu, D.M., Stanciu, N., *Octogon Mathematical Magazine*, **20**(2), 559, 2012.
- [12] Bătinețu-Giurgiu, D.M., Stanciu, N., *Journal of Science and Arts*, **12**(4), 425, 2012.
- [13] Nesbitt, A.M., Problem 15114, *Educational Times*, **3**(2), 37, 1903.
- [14] Zvonaru, T., Stanciu, N., *Sclipirea Minții*, **4**(8), 9, 2011.